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      Name_____________________________ 

Use the graphing calculator to complete the table and find the x and y intercept. 

Graph the points. 

x y 

-2  

-1  

1  

1.         4x y− =   

 

x-intercept: __________ 

 

y-intercept: ___________                  

 

x y 

1  

2  

4  

2.          2 1x y− + = −   

x-intercept: __________ 

 

y-intercept: ___________                  

 

 

x y 

-6  

3  

6  

3.    
1

1
2

x y− + =  

x-intercept: __________ 

 

y-intercept: ___________                  

 

x y 

1  

3  

4  

4.    3 6 3y x= − +  

 

x-intercept: __________ 

 

y-intercept: ___________                  
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x y 

-3  

-2  

1  

5.         8 2 4x y− =   

 

x-intercept: __________ 

 

y-intercept: ___________                  

 

x y 

-6  

-4  

2  

6.      2 2 6y x− = +   

 

x-intercept: __________ 

 

y-intercept: ___________                  

 

x y 

-1  

2  

4  

7.    3 4 12 0x y+ + =  

 

  x-intercept: __________ 

 

y-ntercept: ___________              

x y 

1  

4  

5  

8.    3 2 6 0y x− + =  

 

x-intercept: __________ 

 

y-intercept: ___________                  

 

 

 

 

 

 

 

 


